@ 2 {ZHhia

WEEMDEIX N H A 265,

O UEFREFR
ARBAE B B T LU R A P R E
O R UAREFFX
W EHIR AR
O EHFiBHE
"s
N
N oms
EL-03 M —|10|— |50
HMARNE HBAE
(o 1T
(mm)
Nt
R RE mm 10 [ 16 | 20 | 25 | 32
H;MIEAR W
fERRE REHERTS
EORS M5 x 0.8 | Rc1/8
RUEME A1 MPa 1.5
EaEAEN MPa 1.0
RIEERES MPa 0.15 | 0.1
INER R IRE T -5 ~ 60( BREXRLE)
Zif MEZ R
TERNAZEEE mm +£2
E R mm/s 30 ~ 500
O TR ERAFR
A FRAEATRR (mm) eSS
10 25 50 75
18 |
+ 25 50 75 100 125 150 175 200 RCB %31
32

i FRMEMMIEIES % P540,

459



EL

HEEEXR
ERRZIK ST E
30
=R ) y
T
10 N
\
WTERENTT M EERENTT A\
5 N\
s B 4 4
AR E :
=
: \
. le—
s 1
NTEREMNT * M EEREMNT
0.5
10 50 200 300 500
i (mm/s)
RATHNEGTE/ALEEE
T 27 92 (mm) 610 016 620 925 032
RATHFRE X 1kg 4 kg 5 kg 6 kg 10 kg
REEREE +0.09° +0.03° +0.03° +0.02° £0.01°
E)ERR, FEMNEORESBRNPOEL,
TS
(NERTEE ARER TRk
{E S S
P 4732 (mm)
HENE | g0 100 200
10 9.81 0.07 —
16 39.2 0.05 0.2
20 49 0.04 0.15
25 58.8 0.02 0.08
32 98.1 0.02 0.07
QAREFEE HifrtEsp Tk
l 2
[E -
4 17#2(mm)
HENE | g 50 100 150 200
10 2.94 0.06 0.3 — —
16 4.9 0.03 0.1 0.25 0.45
20 7.84 0.03 0.09 0.18 0.35
25 9.81 0.03 0.09 0.16 0.25
32 29.42 0.02 0.05 0.1 0.15

460

32

25
20

16



EL

o miEE

$10
f; L
Nl
N
+
$16, 25
L= T\ /=g 4
= o1
— = | =l_l'l_l‘“l = |\ il
——F O
—d_[T=aT e e S
] (=
—zy fradTe—
=F % & f &
~ Lohy .
$20, 32
3TN
x\ ! Tﬁ W K !
ST\ o =
M a5 [aLe) P 0
it = ==
N == e fre—T l
\ Il =
@—- 1 1t Hi=
i ==l B e L
: - SRS
=" ! | | [
| o i Ji\i s
EEEH
No. FHER 7R No. FHER 7l
1 PNV $RES 12 HERE NBR
2 1408 1 B 13 EHE B4
3 R A 14 1EZHIELL A T W
4 B 2 T 15 1ETHEL 2 SN
5 i — 16 4B 3 T W
6 I8 E NBR 17 #A iR
7 EEEEE NBR 18 3k s
8 EIELES RS 19 O BIfE NBR
9 s — 20 ELRE B
10 HEM T 21 1EZHEL 3 T W
11 HEZIE NBR 22 k2 =R

461



EL

SR~ (mm)
EL-03410, ¢16, ¢2571T%2: 25
Max.zz
Q
ss s
2x2-N F P
EEE: &)
g e 5
A &
— =
_ | = I I
o H=—— o @) F |4 B
4 —|
& & —
@ ° &
c2 ci
Hx H13g 4-V
2-R o
N \V 2-M
% w A
p AR i 2
H v 1 —
E1 L
J z J K, %
L o L
g © O g c—
[ D |
= F TL |
— - T 1
Sl o & ~EE - 8 -4 = -
& /- & A
2x2-G2 2x2-H3 4-N1 Max.M1
RRNE T |A|B|C|C1|C2|D | E |E1 F |G |Gl G2 H H1 | H2 | H3 | J K L M
(mm) (+7) (H7)
10 25 |48 |22 (18| 6 | 3 |19|6.5(14.5| 21 |40 (28 | Mix07x %8 | ¢4 | 6 3 | 04x ®5| ¢4 | 10 | 9.5 | 38 | M8x1.0(MAC-0806-SN)
16 25 6228|124 |75|55(25 18.5( 25 | 53 | 38 | Msx08x %10 | 65| 6 3 | 05x #6| ¢5| 12 | 9.5 | 38 | MBx1.0(MAC-0806-SN)
25 25 79(385|32| 9 |9 [34|16|19.5(28.5| 67 | 50 | M6x1.0x K12 | 66| 8 4 | 06x #8| ¢6| 16 | — | 43 [M10x1.0(MAC-1007-SN)
ﬂ(ﬁr]:];é 1T M1 N N1 O P Q R S |SS| T U \% W |Y z Y74
10 25 32.6 | $33i#7l, 65XiR32| ¢321&FL, 65XF33| 6 | 25 |104| M5x0.8 | 27 | 67 | 37 | 52 M4x0.7 % 6 3 |94 |179.2
16 25 30.6 | 043187, 8XKR45 | ¢4.31EF, 8XiF45 | 10 [ 25 |114| M5x0.8 | 27 | 75 | 53 | 67 | M5x08x 10 3 [102|187.2
25 25 33 $5.2187, 95XiR5 | 5517, 95XiR55| ¢12 | 25 [125 Rc1/8 27 | 82 | 67 | 84 | Mex10x K12 — | 109 | 207

462



EL

EL-03 ¢ 10 - 17%2: 50 ~ 75, ¢ 16, 25 {742: 50 ~ 150 (mm)

@
>

D

2x2-N~
Hx H1ig 4-V

4
ol o 9 %
w
L E1 L i
Max.M1 J 7z J K — i +
F . P .
: M1 T 7 W_\j* gﬁ N H
D © @O o ol | g8 |
P P g2 !
R B = - T
| —
=k
ik T R 1
- 777777,7,2% A
ap =
N & @ S
2x2-G2 2x2-H3 4-N1 2-M Ml»e
HERE 7T |A|B|C|Cci|C2|D|E|El]|G|GI G2 H H1 | H2 | H3 I J | K M
(mm) (H7) (H7)

10 50-75| 48 |22 |18 | 6 | 3 | 19 |6.5(145| 40 | 28 | M4x07x %8 | ¢4 O4x &5 | ¢4 | 10 | 9.5 | M8x1.0(MAC-0806-2)
16 50-150| 62 | 28 | 24 | 7.5 (55| 25 | 9 [18.5| 53 | 38 |M5x08x 10| ¢5 | 6 | 3 | O5x®6 | 5 | 12 [ 9.5 | M8x1.0(MAC-0806-2)

(o)

25 50-150| 79 | 35 (32 | 9 | 9 | 34| 16 [20.5| 67 | 50 [Mox10x&T2| ¢ 6 4 | 06x &8 | $6 | 16 | — | MI0x1.0(MAC-1008-2)
e 1T | M1 N N1 (0] R T | U \ WI[Y
(mm)

10 50-75| 8 |¢3.3i&7l. 6.5x ®32| $32i&F. 65x R33| $6 | M5x0.8 | 37 | 52 | M4x07%6
16 50-150| 6 | $4.31&Fl. 8x K45 | 9437, 8x K45 | $10| M5x 0.8 | 53 | 67 | M5x08x & 10
25 50-150| 6 | $5.2i&Fl. 9.5x K5 | $5.587, 95x 55| ¢ 12| Rc1/8 | 67 | 84 |M6x10x R12| 8 |—

ﬁ(ﬁ:{é 1718 F L P Q S | 8§ z 7z
50 26 | 63 | 40 [ 154 | 52 | 92 | 144 | 172
10 75 26 | 88 | 65 [ 204 | 77 | 117 | 194 | 222
ﬁ(ﬁ S)& 1712 F L P Q S | SS Z Y74 ﬁ[ﬁ :?)ﬁ 1718 F L P Q S SS Z zZ
50 35 | 63 | 30 | 164 | 52 | 100 | 152 | 182 50 31 66 45 175 52 107 | 159 | 197
75 |[325| 88 | 60 | 214 | 77 | 125 | 202 | 232 75 335 | 91 65 | 225 | 77 132 | 209 | 247
16 100 (375|113 | 75 | 264 | 102 | 150 | 252 | 282 25 100 | 335 | 116 | 90 | 275 | 102 | 157 | 259 | 297
125 (425|138 | 90 | 314 | 127 | 175 | 302 | 332 125 46 141 90 | 325 | 127 | 182 | 309 | 347
150 | 55 | 163 | 90 | 364 | 152 | 200 | 352 | 382 150 | 58,5 | 166 | 90 | 375 | 152 | 207 | 359 | 397

463



EL

EL-03 ¢ 20 - 7#8: 25, ¢32- 1T#&: 25 ~ 50

Max.zz

4-V2

2x2-G2/ 2x2-H3 4-N1 Max.M1
= 4Z
BEPE | e | A B |c|ci|c2|D |D1|D2| E |E1|E2| F |G |61 G2 |H, |H1|H2|H3 1l J k(L
(mm) (H7) (+H7)
20 25 [73(33 (27511 |45[29| 9 | 9 |95|20| 6 |27 (62|45 |MexioxE®2 | 66| 6 | 8 | 06xF8 | 06| 14 [ 9.5 | 39
25 275 37 41
32 113| 55 |38.5[13.5| 7 | 40 [10.5| 12 | 15 —— 10 —— 105| 84 | WBx125xF15| ¢8 | 8 | 12 | e8xFi2| ¢8| 20 [14.5—
50 28 38 65
= 42
TLIIE | o M M1 N N1 olrP|a R s|ss|T|uU v Vi1
(mm)
20 25 | M10x1.0(MCA-1008-2) | 32 | 95217, 95% &5 | $55BA. 95x 55| ¢12[ 25120 | M5x0.8 [27 | 79 | 62 | 78 | Mex10x®Y | Méx07x &5
25 22 (143 27| 96
32 Midx15MCA-1412-SN) | 50 | 96978A. 11x 65 | ¢6937. 11x &7 | ¢ 20 Rc1/8 100 | 118 | M8x125% F15 | M6x10x &7
50 45193 52 | 121
= 4R
HENE | g V2 W | X1 | X2 | X3 | x4 | Y z | zz
(mm)
20 25 M5x 0.8 BFL. 7.5X if 4.5( & ) 8 | 55|22 |17 | 15 | 3 | 106 | 166
25 123 | 213
32 M5x 0.8 FL. 7.5X ¥ 4.5( &™) 10 | 75. | 31 | 245 | 31 | —
50 173 | 263

464



EL

EL-03 ¢ 20 - 7#8: 50 ~ 150, ¢32: {7#2: 75 ~ 200

7z
Q
SS W S _
F L P _ T W
& & & @
|
- [ I S IO
© ﬁ} (@\A - <
|
4-\/2 | E
/@ Ny {Q N
2x2-N/ HxH1g 4-V c2 C1|
o R 2-V1
Pk 5 f| ]
w [a)
ool | sT—1.1
o
0 W
| El L E2_ ©
J z J K =
[ ——— T
[y Y
q & O & ,
|
¢ \
I S B s e _ !
I
o
IR . ?
" 1. R NP A
oY D
b @ @ &
2x2-Go/ 2x2-H3 4-N1
ok 4
HRAE 7% 2| A |B| C |C1|C2| D |D1|D2| E |E1|E2| G |G1 G2 H H1|[H2| H3 | J K M
(mm) (+7) (+H7)
20 50-150| 73 | 33 (27.5| 11 |4.5] 29 10.5/9.5|20| 6 | 62 |45 | M6x1.0x®12 | $ 6 06x ®8 | ¢ 6| 14 [ 9.5 | MI0x10(MCA-1008-2)
32 75-200| 113 | 55 [38.5(13.5| 7 | 40 12 [ 15 |28 |10 | 105 | 84 | MBx125x 515 [ 8 | 12 08x ®12| ¢ 8| 20 [14.5| Mi4x15(MCA-1412-SN)
ot 4 7
ﬁiﬁ:]])é 1T N N1 O R R1 T{U V Vi1 V2 W [X1|X2| X3 [X4|Y
20 50-150| 5217, 95x &5 | 95587, 95x F55| 012 M5x0.8 | Max07x &5 (62|78] M6x1.0x K9 M4x0.7x ®5 |Mox083&H, 75x R45(¥H)| 8 |5.5[22| 17 |15 3
32 75-200| 06987, 11x 65| 0698, 11xF7 | $20 Rc1/8 M6x1.0x &7 [100[118| MBx1.25% 15| M6x1.0x F7 [M5x083&A, 75x R45(%M)| 10 (75|31 | 24531 |—
EL-03: ¢20 EL-03: ¢ 32
1718 F L P Q S SS z 7z 1718 F L P Q S sSs z 7z
50 34.5 64 35 170 52 104 156 | 193.5 75 38 90 70 243 77 146 223 | 2775
75 34.5 89 60 220 77 129 206 | 243.5 100 38 115 95 293 102 171 273 | 327.5
100 39.5 114 75 270 102 154 256 | 293.5 125 38 140 120 343 127 196 323 | 3775
125 44.5 139 90 320 127 179 306 | 343.5 150 38 165 145 393 152 221 373 | 4275
150 57 164 90 370 152 204 356 | 393.5 175 38 190 170 443 177 246 423 | 4775
200 38 215 195 493 202 271 473 | 527.5

465





